0°wON>°N - 3 *BPR 3 23N
P hY f:E— R TR PUpIMp 1213p E C R2 AN .1
f(w,y) = 2 + cos*(eV)

M < f(x,y) 0pma (z,y) € E 5390 790 < M € R 0”p % 11
022101 DAW°N MWYS TR PR 10

y' 935 M%) 2 °8% 12087 ,D 0N By MR IpNe f(z,y) N (R) .2
537 M) y 8% MW AP AR (1°%N g(x) = f(z,y’) PIpNET
7% f(z,y) " MW (MW 7702 AD°%7 A(y) = f(a',y) TRPNEA 2

D32
DN by AP AT 1Y f(2,y) = cos (ks TEPIEA OXT ()
20°83
i
Dy ={(z,y) | 2* +¢* <1}
i
Dy ={(z,y) |3 <2 +y* <4}

nrAn .3

g : Dyg—R™ (D, CR")
f : Dy —=RF (D;CR™)

TIm(g) € Dy *> I3 oW RN Dy, D, 99 7MW 7702 MD*EY NYEpie
D, 5y MW 773 1987 fg MDA *D Mo

nIywL NR 7790 W oW1 .D € R™ WRD D Dy 2% f:D—->R"N 4
MR

a0 (X)

v 72 Ma°x7 m>on nw

71(0) =7(0)=a 7(1) =7(1)=0>
MMy ¢ e (0,1) @%p X

fn (@) = f(r2(t))



700 (2)

v 75 Moz mon nw

7(0) =7(1) =a ~1(1) =(0)=>

MY ¢ e [0,1] 7P IR

fn(8)) = f(ra(t))

7T 77 02 9T7P 592 IR nxpnan 5w ﬂ'l’P'?ﬂTl MAmIn N awn .5
fla,y) = +3y> = 2 ()
f(x,y) — ecos(zy) (:)

f@,y,2) = /22 + 2+ 22 ()

f(x»% Z) = 1n(x3 =+ y3 _ 2,3) (-f)

?(0,0) 2 M2°%7 17 OXT .IRT PEXPNDN bw J'1'I’|7'7TITI M DX 2wn .6

€T = 1‘22I2;/2 (.73, y) 7é (O, 0)
f(z,y) { o (o.9) — (0.0)



